
SAMPLE QUESTIONS
(Humanities)

• There are 50 sample questions for each class while the actual paper will be of 100 questions

• Question paper is divided into 5 sections – History, Geography, Political Science, English & Logical Reasoning 

• Every question has 1 correct answer

• There will be no negative marking

• All questions carry equal weightage

• Duration of actual exam (with 100 questions) will be 2 hours

• In the actual exam, please read the instructions given on the OMR sheet carefully and submit the completely filled 
OMR sheet before leaving the exam hall

• In the actual exam, additional 10 minutes will be provided for reading the instructions and filling the OMR sheet.
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Section A- Geography 

1. Upward and downward movement of ocean
water is known as the :
a. tide
b. current
c. wave
d. none of the above

महासागर के पानी के ऊपर और नीचे की ओर 
सचंलन को …. रूप में जाना जाता है:
a. ज्वार
b. धारा
c. भाटा
d. उपरोक्त में से कोई भी नह ं

2. The distance between the earth and the moon is
minimum when the moon is in :
a. Aphelion b. Perigee
c. Perihelion d. Apogee

चंद्रमा के अदंर पथृ्वी और चंद्रमा के बीच की दरू
न्यनूतम है:
a. अपसौररका b. भ-ूसमीपक
c. सयूय समीपक d. भमू्यचु्च

3. Which one of the following gases in the
atmosphere acts as a filter and absorbs the ultra-
violet radiations.
a. Oxygen
b. Ozone
c. Nitrogen
d. Carbon-di- oxide.

वातावरण में ननम्न में से एक गसै, फिल्टर के रूप 
में कायय करती है और पराबैंगनी फकरणों को 
अवशोषित करती है 
a. ऑक्सीजन
b. ओजोन
c. नाइट्रोजन

d. काबयन-डाय-ऑक्साइड
4. Bio-geography is a sub-branch of geography and is

closely related to which field of Science.
a. Physics related to Astronomy
b. Botany related to Ecology
c. Mathematics related to Statistics
d. Geology related to Earth Science

जैषवक भगूोल, भगूोल की एक उप-शाखा है, यह 
षवज्ञान के फकस क्षेत्र से कािी ननकटता से सबंधंधत 
है
a. खगोल षवज्ञान से सबंधंधत भौनतकी
b. पाररस्थिनतकी से सबंधंधत वनथपनत षवज्ञान
c. सांस्ययकी से सबंधंधत गणणत
d. पथृ्वी षवज्ञान से सबंधंधत भषूवज्ञान

5. Atmospheric layer important for human beings is:
a. Stratosphere
b. Troposphere
c. Ionosphere
d. All of the above

मनषु्य के ललए महत्वपणूय वायमुडंल य परत है:
a. समताप मण्डल b. क्षोभ मडंल
c. आयन मडंल d. उपरोक्त सभी

6. Oxygen gas is in negligible quantity at the height
of atmosphere:
a. 90 km b. 120 km
c. 100 km d. 150 km

वायमुडंल की फकस ऊंचाई पर ऑक्सीजन गसै 
नगण्य मात्रा में है:
a. 90 फकमी b. 120 फकमी
c. 100 फकमी d. 150 फकमी

7. In which one of the following cities, are the days
the longest?
a. Tiruvanantpuram b. Chandigarh
c. Hyderabad d. Nagpur
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ननम्न शहरों में स ेकहााँ ददन सबसे लम्बा होता है 
है?

a. नतरुवनतंपरुम b. चंडीगढ़
c. हैदराबाद d. नागपरु

8. The air that contains moisture to its full capacity
a. Relative humidity
b. Specific humidity
c. Absolute humidity
d. Saturated air

हवा स्जसमें इसकी पणूय क्षमता में नमी होती है:
a. सापेक्ष आद्रयता b. षवलशष्ट नमी
c. ननरपेक्ष नमी d. सतंपृ्त हवा

9. Which one of the following is not related to the
formation or modification of the present
atmosphere?
a. Solar winds
b. Differentiation
c. Degassing
d. Photosynthesis

ननम्नललणखत में से कौन सा मौजूदा वातावरण के
गठन या सशंोधन से सबंधंधत नह ं है?

a. सौर हवाओं
b. भेदभाव
c.       
d. प्रकाश सशं्लेिण

10. Which one of the following is included in
biosphere?
a. only plants
b. all living and non-living organisms
c. only animals
d. all living organisms

ननम्नललणखत में से फकस को जीवमडंल में शालमल 
फकया गया है?

a. केवल पौधों
b. सभी जीषवत और गरै जीषवत जीवों
c. केवल जानवरों
d. सभी जीषवत जीव

Section B- History 

11. In 17th century Roman and Iranian empire were
expanded in which of the following continents
a. Europe
b. Western Asia
c. Northern Africa
d. All of the above

17 वीं शताब्द  में ननम्नललणखत महाद्वीपों में स े
फकस में रोमन और ईरानी साम्राज्य का षवथतार 
फकया गया िा?
a. यरूोप
b. पस्श्चमी एलशया
c. उत्तर  अफ्रीका
d. उपरोक्त सभी

12. Prophet Muhammad died in which year ?
a. 632 AD b. 612 AD
C. 643 AD d. 615 AD

फकस विय  में पगैम्बर महुम्मद की मतृ्य ुहुई?

a. 632 ई. b. 612 ई.

c. 643 ई. d. 615 ई
13. First University of Europe was established in

which country
a. Portugal b. France
c. Italy d. Spain

यरूोप में पहल  षवश्वषवद्यालय की थिापना फकस 
देश में हुई?

a. पतुयगाल b. फ्रांस
c. इटल d. थपेन

14. German monk who started campaign against
Catholic Church
a. Martin Luthar
b. Copernicus
c. Gallelio
d. None of the above

जमयन लभक्षु स्जन्होंने कैिोललक चचय के णखलाि 
अलभयान शरुू फकया
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a. मादटयन लिूर
b. कोपननयकस
c. गलैेललओ
d. उपरोक्त में से कोई नह ं

15. Economics base of the civilizations in central
America was
a. Maze b. Wheat
c. Rice d. Cotton

मध्य अमेररका में सभ्यताओं का आधियक आधार 
िा

a. मक्का b. गेहंू
c. चावल d. कपास

16. “Settler” word was used in South Africa for
a. Dutch b. Irish
c. Greek d. Americans

दक्षक्षण अफ्रीका में "सटैलर" शब्द का प्रयोग फकन 
के ललए फकया गया िा

a. डच b. आयररश
c. यनूानी d. अमेररफकयों

17. People of Mesopotamian civilization were aware
of
a. Division
b. Compounded Interest
c. Square root
d. All of the above

मेसोपोटेलमयन सभ्यता के लोगों को ननम्न में स े
फकन के बारे में जानकार  िी ?

a. षवभाजन
b. वगयमलू
c. चक्रवषृि ब्याज
d. उपरोक्त सभी

18. Genghis Khan had ………. sons ? 
a. 2 b. 3
c. 1 d. 4

चंगेज खान के ......... पतु्र िे ?

a. 2 b. 3

c. 1 d. 4

19. In China Communist Government was
established in
a. 1928 b. 1948
c. 1949 d. 1918

चीन में कम्यनुनथट सरकार कब थिाषपत हुई ?

a. 1928 b. 1948

c. 1949 d. 1918

20. Which country witnessed the first modern
industrialization
a. Britain c. Japan
d. France c. America

फकस देश में पहला आधनुनक औद्योधगकीकरण 
हुआ ?

a. ब्रिटेन c. जापान
d. फ्रांस c. अमेररका

Section C- Political Science 

21. Before the end of 1960, which major exponent of
the Behavioral Revolution strongly prevailed on
the behaviorist status
a. Charles Merriam
b. David Easton
c. Herald lamvel
d. None of the above

1960 की समाप्ति से पहले व्यवहारवादी क्ाांप्ति के ककस

प्रमुख प्रप्तिपादक ने व्यवहारवादी प्ततिप्ति पर प्रबल प्रहार

ककया

a. चार्लसस मेररयम

b. डेप्तवड ईतटन

c. हरेर्लड लामवेल

d. गातवेल

22. According to the ‘Locke’ is the characteristic of
natural state
a. continuous conflict
b. Ultimate bliss and happiness
c. Peace and cooperation
d. basis of personal property

लॉक के अनुसार प्राकृप्तिक अवतिा का लक्षण है

a. सिि सांघर्स

b. परम आनांद और सुख
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c. शाांप्ति और सहयोग

d. वैयप्तिक सम्पप्ति का आधार

23. “The first king was a lucky warrior” - this is the
statement of
a. Bismarck b. Open hymer
c. Gate d. Voltaire

प्रिम राजा एक भाग्यशाली योद्धा िा – यह किन ह ै

a. प्तवतमाकस

b. ओपेन हाइमर

c. गेटल

d. वार्लटेयर

24. Only the supernatural system is the system in
which the ruler's rule is the only justification - this
is the statement of
a. Maciver
b. Ludovico
c. Burn
d. Lincoln

केवल अप्तधनायक िांत्र ही ऐसी प्रणाली ह ै प्तजसमें शासक

की सत्ता ही एक मात्र औप्तचत्य हुआ करिी ह ै– यह किन 

ह ै 

a. मैकाइवर

b. लुडोप्तवसी

c. बन्स्र

d. ललांकन

25. Characteristics of the Presidential System
a. inhibition and balance
b. Dictatorship
c. Division of powers
d. Collective liability

अध्यक्षात्मक शासन प्रणाली की प्तवशेर्िा है

a. अवरोध और सांिलुन

b. िानाशाही

c. शप्तियों का प्तवभाजन

d. सामूप्तहक उत्तरदाप्तयत्व

26. Following Is the manager's effective control over
the executive?
a. by asking questions
b. work stop offer
c. Attention Resolution
d. motion of motion

व्यवतिाप्तपका के कायसपाप्तलका पर प्रभावी प्तनयांत्रण का 

साधन ह ै? 

a. प्रश्न पूछकर

b. काम रोको प्रतिाव

c. ध्यानाकर्सण प्रतिाव

d. अप्तवश्वास प्रतिाव

27. If justice is merged into darkness, then what can
be estimated by the depth of darkness? - Whose
statement is this?
a - Lord Bryce
b. Laski
c. Mariat
d. Garner

न्स्यायकदप ही अांधकार में प्तवलीन हो जाये िो अांधकार की

गहनिा का क्या अनुमान लगाया जा सकिा ह ै ? – ये

किन ककसका है

a. लाडस ब्राइस

b. लातकी

c. मेररयट

d. गानसर

28. Which news paper played a vital role in the Indian
National Movement
a. Amit Bazar Patrika
b. Rajasthan patrika
c. Janajagran
d. Divya bhaskar

ककस समाचार पत्र ने भारिीय रातरीय आन्स्दोलन

जनजागरण में महिी भूप्तमका प्तनभाई 

a. अप्तमि बाजार पप्तत्रका

b. राजतिान पप्तत्रका

c. जनजागरण

d. कदव्य भातकर

29. Which of the following areas has not been
represented in the Central Legislative Council
a. Madras
b. Ajmer-Marwar
c. Bengal
d. Bombay

केन्स्रीय प्तवधान पररर्द ् में प्तनम्नां में से ककस क्षेत्र को

प्रप्तिप्तनप्तधत्व नहीं कदया गया 

a. मरास

b. अजमेर-मारवाड़
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c. बांगाल

d. बम्बई

30. The headquarters of the Naresh Mandal,
established on 10-9 February, 1921
a. Delhi
b. mumbai
c. jaipur
d. kolkata

9 फरवरी 1921 को तिाप्तपि नरेश मांडल का मुख्यालय

रखा गया

a. कदर्लली

b. मुांबई

c. जयपुर

d. कोलकािा

Section D – English 

Directions (Q.nos. 31 to 34) Complete this 

passage by selecting the most suitable 

word/phrase from list to fit the corresponding 

gap. 

The 31. _  of India as an economic super 

power is not reflected in the  32.   _ of life 

enjoyed by its 1.2 billion citizens, according to 

the Human Development Index, which 33. _  _ 

India very low among 182 countries. In our 

performance- oriented world, measurement 

issues have taken on  34. _  _ importance as 

what we measure affects what we do. 

31. Which of these fits gap 14?

a. quality b. spirit

c. span d. joy

32. Which of these fits gap 15?

a. scored b. qualified

c. regard d. ranked

33. Which of these fits gap 16?

a. great b. unduly

c. trivial d. considerably

34. Which of these fits gap 13?

a. pursuit b. perception

c. conversion d. title

Directions (Q.nos. 35 & 40) Read the 

following information in passage and answer 

the questions given below. 

Canopy of Nature 

Dad decided last Sunday that we should all go 

on a camping trip. 

He read an article in the Sunday paper about 

camping and how it “brings families together 

under the canopy of nature.” 

“Overrated,” I joked. “What about the canopy 

of television or the canopy of restaurant 

food?” 

“This will be good for us,” Dad said, sliding the 

magazine across the coffee table. “Let’s go 

next weeked.” 

I shot quick look over at my little brother, 

Paul. He gave me a slow eyebrow raise which 

meant, “This will probably not go off 

completely as planned.” 

My smile back said, “But it will surely be fun.” 

I started to think back. Once Dad decided we 

should all learn how to canoe. We borrowed 

two canoes from our friends, hoisted them on 

the van and drove for three hours to a 

secluded lake in Virginia. Alone in the middle 

of nowhere, we discovered that we had 

forgotten the paddles. 

Paul and I got in a canoe with Dad and our 

two younger sisters got in a canoe with Mom. 

We floated aimlessly around the lake for 

hours. Then, we all jumped in with our life 

jackets on. We pushed the canoes back to 

shore. It was a fantastic trip. 

Another time, Dad decided we should all learn 

how to ski. All of us hate the cold so we spent 

the weekend huddled by the fire, drinking hot 

coca in the ski lodge and playing board 

games. It was great. We had a blast. 

When Istopped day dreaming, Mom was 
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saying, “Sweetheart, we don’t have a tent.” 

“We don’t need one!” Dad said happily. “We’ll 

take all the seats out the van when we get to 

the campsite and put in an air mattress.” 

I don’t know what the punch line will be on 

this excursion, but I am sure with Mom, Dad 

and the four of us kids scrunched in a van at 

some national park, we are bound to have a 

good time. 

35. Which best describes the narrator’s tone?

a. Condescending b. Sarcastic

c. Jovial d. Annoyed

36. The narrator probably says the camping trip

will have a punch line because he or she feels

it will

a. be expensive

b. have difficulties

c. have a funny ending

d. involve fighting and turmoils

37. As used in the middle of the story, which of

the following could accurately be described as

secluded?

I. A hiking trail known only to a few.

II. A crowded movie theater.

III. A popular beach on the California coast.

a. Only I b. I and II

c. II and III d. All of these

38. As used at the end of the story, which is the

best synonym for excursion?

a. Evolution

b. Exodus

c. Expedition

d. Hiatus

39. What lesson does the narrator’s family seem

to live by?

a. Camping is sure to be an adventure

b. Danger is only in the imagination

c. Things don’t need to go as planned to

have fun

d. Reading the newspaper is a recipe for

trouble 

40. Which alternate title fits this passage best?

a. “No Paddles”

b. “Never as Planned”

c. “Hot Coca by the Fire”

d. “Van Camping for Beginners”

Section E – Logical Reasoning 

In the following questions 41 to 45 questions 

numbers are arranged in a series with come 

principles understanding it. One term in the 

series is missing as shown by . This term is 

given as one of the alternative amongst the 

four numbers given below it. Find this term and 

show your answer against the question number 

on the answer sheet. 

ननम्नललणखत प्रश्नों में प्रश्न सयंयाएं41 से 45  एक 
श्ृंखला में व्यवस्थित की गयी है । श्ृंखला में एक 
अकं गायब है । यह अंक नीचे ददए गए चार 
षवकल्पों में से एक है । इसे ढंूढें और उत्तर पत्र में 
प्रश्न सयंया के के सामने उत्तर इंधगत करें

41. 1, 12, 18, 25,  , 52 

a. 32 b. 33

c. 35 d. 34

42. 9, 16, 25, 36,  , 64, 81 

a. 406 b. 426

c. 466 d. 49

43. 2, 2, 4, 12, 48,  .666666

a. 2406 b. 2206

c. 1926 d. 200

44. 25, 22, 18, 13, 7, . 

a. 16 b.626

c.636 d.60

45. 8, 27, 64, 125,  , 343, 512

a. 150 b. 220

c. 216 d. 180

In question 46 to 50, English alphabets are 

given digital numbers. Using them, find the 
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correct code of other English words from the 

alternatives. 

प्रश्न 46 से 50 में, अगं्रेजी वणों को अकंीय सयंया 
में कोडडत फकया गया है । कोड का प्रयोग कर , 

ददए गए अगं्रेजी वणो का षवकल्पों  से सह  कोड 
ननकालें  

46. TAKE = 3456, KAML = 5479 , MAKE=?

a. 7465 b. 7456

c. 7546 d. 7564

47. DOG = 467, CAT = 321 , GOT= ?

a. 716 b. 761

c. 671 d. 617

48. A = 1, B = 2, C = 3, D = 4, E = 5, F = 6, G = 7,

H = 8, I = 9 and BCGH = 2378, CDHI= ?

a. 3498 b. 3849

c. 3489 d. 3894

49. CAMEL = 34567, METAL = 56847, LEMAT=?

a. 76584 b. 76458

c. 76548 d. 76854

50. HIDE = 8945, BDAF = 2416, DIBF=?

a. 4962 b. 4692

c. 4296 d. 4926
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